

| Vendor Ranking P | | | | | | | | |
|------------------|-------------|-----------------------|------------|--------------------|-------------|-----------------|--|--|
| Letting: | 01220519 | May 19, 2022 11:00 AM | Call Order | : 004 | Contract: | E1V55-R0 | | |
| District: | District 1 | | Counties: | DIST/ST-WIDE, POLK | Fed Aid No | : N/A | | |
| Contract Time: | 365 AVAILA | BLE DAYS | | | Project(s): | 43272727249 (*) | | |
| Contract Desc: | Shoulder Re | epair | | | | | | |

| Ran | k Vendor | Bid Type | Bid Status | Total Bid | Percent Of Low Bid |
|-----|---|------------|-----------------|--------------|-----------------------|
| 1 | MIDWESTERN CONSTRUCTION, INC | Responsive | Winning bid | \$410,315.20 | 100.00% |
| 2 | T & M LAWN-FENCE SERVICE INC | Responsive | Non-Winning Bid | \$423,425.80 | 103.20% |
| 3 | TURTLE INFRASTRUCTURE PARTNERS, LLC | Responsive | Non-Winning Bid | \$453,943.36 | 110.63% |
| 4 | ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC | Responsive | Non-Winning Bid | \$481,839.62 | 117.43% |
| 5 | ENVIRONMENTAL LAND DEVELOPMENT | Responsive | Non-Winning Bid | \$556,607.34 | 135.65% |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



05/19/2022

Tabulation of Bids

Page 1 of 4

| Letting: | 01220519 | May 19, 2022 | Call Order: | 004 | Contract: E1V55-R0 |
|----------------|-----------------------|--------------|-------------|--------------------|-----------------------------|
| District: | District 1 | District 1 | | DIST/ST-WIDE, POLK | Fed Aid No: N/A |
| Contract Time: | e: 365 AVAILABLE DAYS | | | | Project(s): 43272727249 (*) |

Contract Descr: Shoulder Repair

The work under this Contract consists of SHOULDER REPAIR.

| Line No / Item ID Alternate | e Quantity Units | (1) MIDWI CONSTRUC | | (2) T & M LA SERVIC | - | (3) TU INFRASTR | UCTURE |
|---|------------------------|-----------------------|----------------|------------------------|--------------|----------------------|-----------------------|
| () indicates item is bid as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | PARTNE Unit Price | RS, LLC Ext Amount |
| SECTION: 0001 | (REPAIRING N | ON-PAVED SHLD | RS (MANUAL) (S | Y | | | |
| 0005 0570 1 2 PERFORMANCE TURF, SOD | 103,298.000 SY | 2.40000 | 247,915.20 | 2.10000 | 216,925.80 | 2.92000 | 301,630.16 |
| 0010 E575 2 SOIL LAYER MATERIAL- IMPORTEE MATERIAL | 20.000 D CY | 20.00000 | 400.00 | 20.00000 | 400.00 | 46.41000 | 928.20 |
| 0015 E577 70 SHOULDER REWORK | 90,000.000 SY | 1.50000 | 135,000.00 | 1.70000 | 153,000.00 | 1.43000 | 128,700.00 |
| 0020 E577 70 1 REWORKING SHOULDERS (SPOT REPAIRS) | 4,500.000 SY | 1.00000 | 4,500.00 | 1.70000 | 7,650.00 | 1.43000 | 6,435.00 |
| 0025 E577 70 2 REWORKING UTILITY STRIPS | 1,000.000 SY | 5.00000 | 5,000.00 | 1.70000 | 1,700.00 | 2.60000 | 2,600.00 |
| 0030 E577 71 BLADING PAVED SHOULDER, UP T BEYOND PAVEMENT | 35,000.000 O 24" LF | 0.50000 | 17,500.00 | 1.25000 | 43,750.00 | 0.39000 | 13,650.00 |
| 0001 REPAIRING NON-PAVED S SHLDRS (MANUAL) (SY) | ection Totals: | | \$410,315.20 | | \$423,425.80 | | \$453,943.36 |



Tabulation of Bids

Page 2 of 4

| Letting: | 01220519 | May 19, 2022 | Ca | all Order: 004 | | Contract: | E1V55-R0 | |
|---------------------------------|----------------------|---------------------|------------|-----------------------|------------|----------------------|--------------------|-------------------------|
| Line No / Item Item Descript | | e Quantity Units | • • | VESTERN CTION, INC | • • | AWN-FENCE ICE INC | • • | |
| • | n is bid as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | PART Unit Price | NERS, LLC Ext Amount |
| | Contract G | rand Totals: | | \$410,315.20 | | \$423,425.80 | | 453,943.36 |



Tabulation of Bids

Page 3 of 4

| Letting: | 01220519 | May 19, 2022 | Call | Order: 004 | | Contract: | E1V55-R0 | |
|--|------------------------------------|-------------------------|-------------------------------|-------------------|------------------------|--------------|------------|------------|
| Line No / It Item Descr | | te Quantity Units | (4) ROGAR MAN CONSULTING (| OF FLORIDA | (5) ENVIRONM DEVELO | | | |
| () indicates i | em is bid as Lump Sum | 1 | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SEC | TION: 0001 | (REPAIRING N | ON-PAVED SHLDF | RS (MANUAL) (S | Y | | | |
| 0005 0570 PERFORMANC | | 103,298.000 SY | 3.69000 | 381,169.62 | 3.33000 | 343,982.34 | | |
| 0010 E575 SOIL LAYER M MATERIAL | 2 IATERIAL- IMPORTE | 20.000 ED CY | 101.00000 | 2,020.00 | 50.00000 | 1,000.00 | | |
| 0015 E577 SHOULDER R | | 90,000.000 SY | 1.00000 | 90,000.00 | 1.95000 | 175,500.00 | | |
| 0020 E577 REWORKING REPAIRS) | 70 1 SHOULDERS (SPOT | 4,500.000 SY | 1.00000 | 4,500.00 | 2.75000 | 12,375.00 | | |
| 0025 E577 REWORKING | 70 2 JTILITY STRIPS | 1,000.000 SY | 1.00000 | 1,000.00 | 2.75000 | 2,750.00 | | |
| 0030 E577 BLADING PAV BEYOND PAV | ED SHOULDER, UP | 35,000.000 TO 24" LF | 0.09000 | 3,150.00 | 0.60000 | 21,000.00 | | |
| | RING NON-PAVED RS (MANUAL) (SY) | Section Totals: | | \$481,839.62 | | \$556,607.34 | | |

Contract Grand Totals:

\$481,839.62

\$556,607.34



| Tabulation of | of Bids |
|---------------|---------|
|---------------|---------|

Page 4 of 4

| Letting: | 01220519 | May 19, 2022 | Call Order: 004 | Contract: | E1V55-R0 |
|----------|----------|--------------|--|-----------|----------|
| | | | file a protest within the time prescribed in | | |

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.